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Question Number : 1 Question Id : 8321474901 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[T a data set contains N observations, then the Sturges' formula for the number of classes (k)
1 given by

N deniden fio B0aE {00 Sedo (35780 Golseny E8e doag (k) dodim

Options :

0.322*logN

14+0.322*logN

i i

3.322%l0gN

Question Number : 2 Question Id : 8321474902 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The arithmetic mean of the first k natural number 1s given by
&9 k Qe :60335@ Do)y Eﬁ}tﬁéaﬁaa’m QOB

Options :

2k/3

1. %



(1+k+k?)/6
(k+1)/2

kK(k+1)/6

Question Number : 3 Question Id : 8321474903 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The two Ogive curves of a distribution intersect at

28 Dgraso AwE) Sotd LAx (ogive) Sigeen 20805H%d LoD

Options :
Arithmetic Mean

woB a’:ot,ﬁéé)éw

Mode
eSO EL0

Harmonic Mean

o0 Eotbg o
3. %

Median
é:cﬁéﬁéo

Question Number : 4 Question Id : 8321474904 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The variance of {3.,3,3,3} 1s
(3,3,3.3} ©3 &&20a°d8 988 JoBsrr
2/

Options :
’%

Question Number : 5 Question Id : 8321474905 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is a relative measure of dispersion
Bobd BS° DSodtn ), F0F o

Options :
M.D

1. %
S.D

N

Q.D

Question Number : 6 Question Id : 8321474906 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The second central moment (n2 ) of a distribution is given by
el Qeresdo cfmégr slelnt) éo[{f‘:cﬁ) 288 (12) H o

Options :
2
[y — 1]
1. %
lieg— 1|
s+t |
2. %
2
ty — (uy)
3.
LEE
(u3)
4, %

Question Number : 7 Question Id : 8321474907 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[n the usual notation, the Sheppard’s correction for the third central moment 1

Srdumen Yodarod® o8 Jerass) Swdd éo@cﬁa B8 )0 K 7

G
Options :
u3 —h%12

1. %

u3 + h¥12
2. %

u3 — (u3 h¥12)

No correction

$%Bes BED
4.



Question Number : 8 Question Id : 8321474908 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the usual notation, the formula for Bowley’s coefficient of skewness 1s
Smdaren Hodzredt .8 Jerasd @f%bagééé) '8 Sr(Eo

Options :

Q3+Q1-2My
Q3-01

1.4

03+Q1-2M4
03+01

Q3-Q142Mg
Q3-0Q1

Q3+Q1-3My
Q3-0Q1

Question Number : 9 Question Id : 8321474909 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The conditions for a distribution to be normal are
2.8 Derasdo S’ﬂéﬁ?@é Qerasdio 5PIEEP8 Qe ?

Options :

ﬁl — 0! 32 <3
1. %

B1#0,6,=3
2. %

3. %



p1>0,B,>3

p1=10,B, =3

4.v

Question Number : 10 Question Id : 8321474910 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2

Giventhat By = = the skewness of a distribution becomes negative if
H2

By = t—zf’_ﬁ (o Trooe $3) OTLIE D BoerdEo ©TAS Awodd

Options:

pz <0

1. %

ps <0

2. ¥

Hy = H3
3. %

Ha < H3
4. %

Question Number : 11 Question Id : 8321474911 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When two unbiased coins are tossed at a time, the resulting sample space 1s
Both Aok §8 PHOD 8,80 DS 3 V)G 0T $S?

Options :

(H,TH.T)

1. %



(HHHT,TH.T)

2. %

(HH.HT,TH.TT)}
3.

(HH.TT)
4, %

Question Number : 12 Question Id : 8321474912 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
When 4 cards are drawn at random from a deck of 52 cards, the probability of getting
2 black and 2 red cards 1s
3 s:en) fjéenéég 206 4 5:ep Ao &, 86 B0k o 5:en ot o8 She

=P

GOlTERS 1o téowééé

Options:

26C,
52C,4

26C, x26C;
52C,

26C+ 26C;
524

[ )

Question Number : 13 Question Id : 8321474913 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



When two fair dice are rolled once simultancously, the probability of getting a sum > 10 1
Goth Air) 38 PD8e> 898 28300 &7 )G 500 Ao > 10 SEdS Kogriy

Options:

O =

= 8

4.+

Question Number : 14 Question Id : 8321474914 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[FAL,A2,....,An are mutually exclusive events and B 15 another event then in the usual notation
P[] B]=
ALAL ... An e S50 24508 soioien. B i 6% ook ooy, driiiren odeed’

P[U?=1Ai | B] P

Options :

;1'1:1 P[Ai')
P(B)

e ;lzlp(‘qu
P(B)



?:1 P(‘qf | B)

G ?:‘LP(A.E‘ B)

Question Number : 15 Question Id : 8321474915 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If A, B are two events such that P(A)# 0 and P(BIA) = I then 1t 1 true that
A, B en S0t fabnonée, P(A) # 0:00ckn P(BIA) = 1 @0333, & (808 Noaotio o w00

Options :

AZEB

Question Number : 16 Question Id : 8321474916 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For three events A, B and C it 1s given that P(B) :%P(A).P[C) :%P[B). Then P(A) =
A, B, Codd 56;6036 @égé F&e, P(B) = % P(A),P(C) = % P(B) &) adtatol.

@ﬁo}ﬁéo P(A) dendd dodam?

Options :
1. %



Question Number : 17 Question Id : 8321474917 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The boundary conditions for the distribution function F(x) of a random variable X are
X 03 dijﬂée}{‘.)gé Soore8 3068 dded @’333630 F(x) @cmé, 0 D0 seP Gotron?

Options :

F(—x) =F(0) =0

1. %
F(—) =0, F(e0) =1
2.9
F(—0) = F(e0) =~
3. %
B2
4. =

Question Number : 18 Question Id : 8321474918 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If X 15 a discrete random variable with distribution function F(x) and k 1s a constant,
then P(X =k) 1s stated as
X a8 8)5)3?6&&?65&&{3% SoTE. T dgre @’Jﬁacﬁjo F(x). ko3 %ﬁ 8 ©OD3,

P(X = k)  sep 00585,

Options :

F(k + 1) — F(k)

1.4

- F(k) —F(k+1)
{F(k+1)—F(k)}/2

F(k+1)
F(k)

4. ®

Question Number : 19 Question Id : 8321474919 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If X 18 continuous random variable and ¢ 1s a constant then P(X =c¢ ) 18
X8 @@&J@ cﬁwtﬁe}q‘]é Somed 0Hdr ¢ o ?3&5 o8 wand P(X = ¢) =

Options :
F
. e

1
2. % ?



Question Number : 20 Question Id : 8321474920 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I (X,Y) has a discrete bivariate distribution, then the condition for independence of X and Y,
in the usual notation 18
(X.Y) 03 736008 o D) dgreo SO 608, & B0k Sorrie K Bolgsd SHeds

VR0 (3eamen 50@@@)

Options :
P
P = =+
23
1. %
P
P" — L
t P; +P
2. %
Pu = Pi',.P.;
3.¢
Py = PP
4. %

Question Number : 21 Question Id : 8321474921 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If X denotes the result when a six-faced die 1s rolled out once, then E(X) =
s Sogreniie e D5 a8 0 &Qé K}iﬁﬂ 5980 X wawd, E(X) =

Options :
2
1. ®
1
6



=

td | =1

Question Number : 22 Question Id : 8321474922 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
FV(X)=2and Y = 243X, then V(Y) =
V(X) =2 eoH&r Y = 243X eand, V(Y) =

Options :
18

6
4. %

Question Number : 23 Question Id : 8321474923 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

. . . . i X-4) .
If a random variable X has mean 4 and variance 2 then the variance of Y = (—2) 18

X o3 $o0es @oé@égioo 4, 058 2 wod, Y = &4 SRS
) 2 )

Options :
1
1.¢ .



Question Number : 24 Question Id : 8321474924 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For any random variable X the function E{e™} is called
@) CSPE)INE SoTe38T E{fe™} o3 HDHcir) ser wotrd

Options:

Moment generating function
W@@@Jﬁé @3)@‘00

1.4

Charactenistic Function
B (Haboo

2. %
Distribution function
QeTresed @'333&3@
3. %
probability generating function
. ﬁc::a:ﬁaf}ééé GTIED @333&3@
4. "

Question Number : 25 Question Id : 8321474925 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



For two random variables X and Y the Cauchy-Schwartz mequality says

X, Y o 3ot Afrd)E Soore oo ) 0 o880 [0

Options :

E(XY) < E(X®)E(Y?

1. ®
{EXY)¥ < E(X?)E(YD)
2. ¥
{EXNPR <EX?) +E(Y?
3. %
E(x?)
. {E(XY)}? < s

Question Number : 26 Question Id : 8321474926 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the Central Limit Theorem (Xn/}, the limiting distribution of a sequence
of independent random variables 13

S0l D Rerogo ([pstbo (Xn) & Sdod APR)NS detrde eRBdo
& Derald ©dhsno 3otéod

Options :

N(0.V2)

1. %

N(1.V2)

2. %

N(0.1)
3.¢¥

4. «
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Question Number : 27 Question Id : 8321474927 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For a binomial distribution 1f the mean 1s 10 and standard deviation 1s 2, then n =
@oézﬁacééﬁao 10 i, (8 oo 2 P t‘bﬁ& Ot QPP n =

Options :
50

1. %

-2
fuh

n

10

Question Number : 28 Question Id : 8321474928 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The moment generating function of a binomial distribution with parameters n and p 1s
n 0a p AoPhEearr e AN JFERPAs ?{m@ééwiﬁzé @'ﬁcﬁao A6?

Options :

o+ 5}

n



{q +pe'}"

{qg +pe}™

Question Number : 29 Question Id : 8321474929 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[f X follows Poisson distribution with mean ‘m’ then P(X =0) =
X o3 Lﬁ)"fﬁe}ﬂl}é o8 m oeehd Ko dranees Qifamrl) ekNoiE o8 P(X =0)=

Options :

1—e™™m
1. %

-m
2. ¢

3. %

{1~ e+
4, ®

Question Number : 30 Question Id : 8321474930 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a sequence of independent Bernoull trials with constant success probability, the distribution of

the number of failures before the 1™ success follows distribution.
Rena) f‘éoaﬁﬁgé ?gdom ﬁé& o d)@t&@ S60566° 18 Ao dnotd éﬁJ £.45m0 éoapé o
epaie)) R0,

Options:

1. %



Negative binomial

IKES BSEWHS

Binomal

BFcHS
2. %

Poisson

PONET R
3. %

Geometric

0|38
4.

Question Number : 31 Question Id : 8321474931 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If X follows rectangular distribution between 1/2 and 3/4 then the mean of X 1
X 03 oﬁwtﬁ&&&é Jeoed 1/2 Hbckw 34 e é:cﬁé E‘fig DR QegPesipd) ©RNOKP

608, X (08 @08 Sotiekn ool

Options :
5/4

5/8
2.

1/16
4. %

Question Number : 32 Question Id : 8321474932 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[n the usual notation, the percentage area covered between (|1 - 6) and (1t + 6) of a normal
distribution i

NN Y K)Oé@”@s (1-0), (1+6)o S ‘ﬁvéﬁé& AR &)'f\_‘;g P80 Qod?

Options :

95%

97.5%
2. %

65%

68.26%
4.

Question Number : 33 Question Id : 8321474933 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The range of beta distribution of type-2 1s
B0t 85708 Do e Degresed a°sd) Dos?

Options :
(0,1)

1. %

(0.<)
2. ¥

(-oc,¢)

3. %

- (OT)

4.



Question Number : 34 Question Id : 8321474934 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Memory less property 1s associated with distribution
085 o 380 Qereardd Gotnod

Options :
Exponential
&%

1.v
normal
Sﬂéﬁjﬁé&

2. %

Rectangular
5&5@35@3

3. % o0
Beta
Al

4. %

Question Number : 35 Question Id : 8321474935 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Iimits of Pearson’s correlation coefficient are
DCDHE)R JH0208 a8 ©HEhen dD?

Options :
[0,1]
1. %
[-1.5¢)

2. %



Question Number : 36 Question Id : 8321474936 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

i
IT;] thenk =

If the probable error of Pearson’s correlation coefficient is stated as k

) Vi . ¥ 1-r %
H0OER Keedonot Heseds {ooaﬁﬁg &0 k[ﬁ] @cm%, k 2)end sod?

Question Number : 37 Question Id : 8321474937 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The regression coefficient for the line Y on X 1s b1 = 2/5 and that of X on Y 1s b2 = 3/2. What s the
correlation coefficient between X and Y?
X & Y (98 180 S (85008 roesdo bl = 25, Y i X o (381588 roeado b= 312

ed X, Yo o“wé;) DePR0a0l He%o Jod?

Options:
1. ®



| w

Question Number : 38 Question Id : 8321474938 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The partial correlation coefficient between X1 and X2 keeping X3 and X4 constant is denoted by
X3, X4 o E’géom 6oDRH0 X1, X2 0 ot P8 i ool Hhwee) aer drdid

Options :

1 % T13.24

I'12.34
2.¥

I'123.4

I'34.12

Question Number : 39 Question Id : 8321474939 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



In terms of bivariate correlation coefficients r12,r13 and 123, the multiple correlation coefficient
R1.231s given as

Forbn Sbonod e 112, 113, 123 eond R1.23 oF aimd $ekonod Hhnsod RP(B0

Options:
Tiz2+7r13723
'uh‘1'"12.E'ﬂ.f(fl‘?*zs.2
1. %
T12=T13%
V1-r13%y1-1232
2. ®
T12—T13723
J1-1132/1-1532
3.¢
riz—Ti3723
(1-r132)(1-1232)
4. %

Question Number : 40 Question Id : 8321474940 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
i i ; ; . (AB)
In the usual terminology, two attributes A and B are said to be independent if e

Lrdren Sodzed A | B o S0k Here dedoBore 6okEPA8 Doy 38

Options :

@ B
1.« N N

(A)+(B)
2N
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Question Number : 41 Question Id : 8321474941 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For two attributes A and B itis given that (A)=400, (B)=600 and (AB)=50. Then (af) =
Sriren Hodged® A, B eR otb Horpeth (A)=400, (B)=600, (AB)=50 waniid

(0f)=
Options:
=30
1. %
100
2. %
50
3.¢
200
4. %

Question Number : 42 Question Id : 8321474942 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The limits for the value of Yule’s coefficient of association (Q) are
Srdomen HoSEres® dhrd PeESE50 HeesedS (Q) HBInéhen

Options:

0<Q=1
1. %

0<Q<1n2



Question Number : 43 Question Id : 8321474943 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The best method of drawing a sample from the population 1s sampling.
a3 TgP Dok B0 (larodltrld oddd 88 Fogoh

Options:
Purposive
éﬁ%g I8 S

1. % N
Random
(ovla AN

2.¢¥ e
Snowball
D5 ers

3. % e
Quota

4, % SO

Question Number : 44 Question Id : 8321474944 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
[f a population has variance 62, the standard error of mean from a large sample of size n 1s
a8 6% &)éej@ 62 0:5%08, n 536:rmo fy lf Podd ol 0 B o

Options :



"
G /n

1. %
c2\n
2. %
o/A\n
3.
c/liVn—1
4, %

Question Number : 45 Question Id : 8321474945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[f *p’ denotes the binomial proportion, then the standard error of “p” from a sample of size n 1s
p&ib BFdS K8 wowd, n 5650 fo Fobd mioe ) woifi b8 Ko

AR

Options :

B[

npq

Question Number : 46 Question Id : 8321474946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
Chi Square distribution arises as the square of ____ distribution
_ eparl) 00603 oﬁﬂﬁgﬁl}é Somdd) ;’36[5}0 3@ g?ogQﬁ graio b sod

Options:
Poisson
1. %

N(w.1)
2, ®

N(0,1)
3.¢

Gamma

Question Number : 47 Question Id : 8321474947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The relationship between the sampling distributions of Students t and F 1s
E’éﬁﬂaoéﬁ t Bk F 2rod0oh gresee Sty Somoto

Options :

t=1/F
1.

t*=F
2.

t=2F
3. %

2.
L. U=1F

Question Number : 48 Question Id : 8321474948 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

n )

[f the random vartable X follows N(11,62) the sampling distribution of x-bar = % IS

X o oﬁiﬂtﬁe}ﬂl}é Somd N(11,02)  eiose 608, x-bar= %x‘ Q¥) Powon dgpeo 67

Options :

N3

1. %

N{}.LE)
N(u, 1)

N, =)
4.v

Question Number : 49 Question Id : 8321474949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 6 15 a parameter and t, 1s an estimator such that E(ty) = B then t; 15 called estimator
E(t,) =0 @6535%3 0 03 SP88 t, a8 woTErto Bavd, 4 @0dTRYo wotrd

Options :

Maximum hkelihood

fatars} X}Dafééﬁd’w
1, ® o

Interval
, x ©OBY



Unbiased

A 88
3. L
Consistent
B
4, % *

Question Number : 50 Question Id : 8321474950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An unbiased estimator of 62 in normal distribution based on a sample of size 1013
=10 38:8re0 Ko &8 P00 T miﬁé@ Qgredo Qng) 62 % ek 88 w0l

Options :
Va1 (Xi— %)
10
1. %
2. ﬁ 1D

Y= (i—%)*
9

3.¢

Yieq (xi—%)*

11

Question Number : 51 Question Id : 8321474951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
An estimator for which Cramer Rao’s lower bound attained 1s called  estimator
2.8 ©OTERE0 (S0 &) Hrds @A Srobiod. @0, ) ©0Prrdo @otrdh.

Options :



MVUE

1. %
MVB

2.
Consistent
SRS

3% 0
Sufficient
ﬁm&‘é

4, %

Question Number : 52 Question Id : 8321474952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IfX denotes the sample mean then an ML estimator of the Poisson parameter A is
X 60 o Hiien eand, Sranad ST L% ﬁ@g K085D0H wod V67

Options :

X
1.4

x4+
2. %

EI
3. %

- -
4. % 1—e

Question Number : 53 Question Id : 8321474953 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The 100(1-0t)% confidence interval for mean L of a norma distribution with unknown variance,
using a small sample of size (n<30) is given by
2.8 Né@ epeiiey wo8idifgdo 8, @%& 3O, D) oae (n<30) & 3)6;}63

100(1-¢)% 5005 woisdo

Options :

Question Number : 54 Question Id : 8321474954 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

While testing a null hypothesis Hy, the type-II error 1s committed 1f
2.8 &g 5050y Ho o $080Bkiptd 811 8%0 Aiiptd b8H%06?

Options :
True Hp 1s accepted
Qa3 Ho & 830

1. %

False Hp 1s rejected

, o Q20 520 Hoo 85503



True Hyp 1s rejected
Qasoid Hp o 88583

False Hp 1s accepted

Dezo 500 Hy i es3m0n)
4. =

Question Number : 55 Question Id : 8321474955 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The probability of rejecting Hg when it 1s true 1s called
Ho Qesodatd el 8800 @S Ko ﬁowé;éé) BEeR BOLPLD

Options :
Type-I error
8H-1 6%30

1. %
Level of Significance
2. ¥ 9
Critical value
(B35S Denss
3. %
Critical region
§ 88386 |Trodo
4.

Question Number : 56 Question Id : 8321474956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For a two-sided test 1f the chance of commutting type-IT error 1 10% , what 1s the power of test?
28 9% 568 aiiod® B -1l 60 8 eierdo 10% sand, & 156§ 48 dod?



Options :
0.80

0.95

Question Number : 57 Question Id : 8321474957 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
For a large sample two-sided test, the critical value for o= 0.05 1
e FoDEE" o8 B8 50% ﬁ@fj&)éﬂ:pﬁo o =0.05 ‘@3‘033 3 éo&fé A

Options :

1.96

1.+

1.68

2. %

-
_n
o0

1.65
4. ®

Question Number : 58 Question Id : 8321474958 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
For a student’s t-test of HO: 1t = [0 against H; . [ # 10 with n = 12, the degrees of freedom are
n=12 098 o H0: u=p0, H; : #4u0 &3 ol 13685 808 some



Options :
11

1. ¢

10
2. %

)
- &

6
4. %

Question Number : 59 Question Id : 8321474959 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The F-test 1s used to test a hypothesis about the of two independent populations
Both Hdod 6o oty 15B08R 568015 (080108 F008 6@RARD

Options :
Means
o8 Eﬁacﬁﬁga’m@
1.
Variances
g&'rﬁ \IéOEJ
2. ¢ o
Medians
éacﬁéﬁ@ﬁﬂ?a
3. %
Proportions
?Jﬁn‘jeii)w
4, % =

Question Number : 60 Question Id : 8321474960 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

test 1s used to test a hypothesis on the independence of two attributes

Both Horo oty Kol S80I B¢ lomd

Options :

Student’s t

SeR0oe - t
1.8 ©
Normal (Z)
mﬂtﬁé&% (Z)
2. %
Snedecor’s F
L x EEE-F
Chi square
25
sv 56

Question Number : 61 Question Id : 8321474961 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of runs in the sequence | ABBAAABABA] 1s
{ABBAAABABA } 93 9:58508° Ko 85) Sogy

Options:

1.¢ L

10
3. %



Question Number : 62 Question Id : 8321474962 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The non-parametric test used to compare two independent samples 18

Both S0l (rBe iy 8T B0 Tn BHTLEAD H0Y A6?

Options :
Run test

55y $8%

Chi square test
8 b D68
- T oy boncd

Mann-Whitney test
58 D) B8,

3.¢

Sign test
Fo b o)

a_ ek

4. %

Question Number : 63 Question Id : 8321474963 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The list of all individual members or units of a population used for sampling 1s called
Fogol 56 ed@rAod arers™ Siho hee (385) & aer wotrd

Options :
Parameter
DoPaDES

1. %



Sampling unit

, % 00N G
Sampling frame
F°00h B|é2s

3.

Sampling stage

, Feogoh 83

Question Number : 64 Question Id : 8321474964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the possible number of samples of size 3 from a population of size 10 under SRSWOR?
86A 36135305 é@@éﬁ 10 cboeew o esmgp 09 S6:re0 3 e e 60503363:3 ) o Ke?

Options :
20

1. %

10C,
2. ¢

Question Number : 65 Question Id : 8321474965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Under usual notation, the finite population correction (fpc) 1s given by
Lrdnen Sodarg® HOME s $8en Jod?



N-1
N-n
1.%
N-n
N-1
2. v
N-1
N
3. %
N-n
n
4. %

Question Number : 66 Question Id : 8321474966 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In stratified sampling of n units from a population of N units with k strata the sampling fraction for
the kth stratum 1

N bty ) e 6%06° ktren 608, ki 5608 06\ ool )0 067

Options :
N
N
1.4
1
N
2. %
"
3. % N
N

4. %



Question Number : 67 Question Id : 8321474967 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The method of proportional allocation 1s used in sampling
@SHIrE Beranoz) HEBY oo &° Jer EHTRATE?
ha

Options :
Simple random

OO TroBed

1. %
Systematic
(BSoedones

2. %
Purposive
V-

- DBV
Stratified
Slala]

4.«

Question Number : 68 Question Id : 8321474968 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A population has N = 50 items and a systematic sample of size 10 1s needed.
What 1s the sampling interval?
50 afoeQéw Ko axeeP od) 10 afmeéw H6reo Ko BN aohd

AoSETA @08 ool oo Jo ?

Options :

5
1.¢



Question Number : 69 Question Id : 8321474969 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ANOVA is used to compare the of three or more independent groups
ED%@ é’)éﬁea o5 JPTR) P &% woddol Q8 (Kro é}iﬁg o

0808 bty

Options:
Variances

PSRN
)

Proportions
sy

Means

(Sle)s] é}f}ﬁéaﬁaﬁ@

Medians

aéai,ﬁgﬁ e

Question Number : 70 Question Id : 8321474970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



One of the following 1s an assumption in ANOVA
& (80b BS° .58 8 e QK0S (HBIRES

Options :
Data is in intergers
v s’g}vgﬁoaaéﬂés 60000

1.%
Equality of group variances
o) [(rye JQ)Eoen 2,88
2.
Equality of group means
@) (Ko @Dé@iﬁéﬁvw 2,88
3. %
Equal number of observations per group
58 (R &% Jende Sogyg DKo
4. %

Question Number : 71 Question Id : 8321474971 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[n a one-way classified data of 60 observations and 6 groups, the error degrees of freedom is
o ffr:gen 60 Deoden fle 8 24 35,8 M DG 6% ol woseen ARY?
U " 2

Options:

59
1. ®

54
2.

5



4 10

Question Number : 72 Question Id : 8321474972 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following i1s Fisher’s principles of experimentation

_

& (808 TBE® 58 P55 o) (HAEPK S5 {rErestIB

Options :

Maximum hkelhihood

KR BoHDHes
1. % -
Replication
@Eécﬂée‘ﬁ
2. ¢
Unbiasedness
Q)88
3. % -
Conditional probability
o5 ﬁoa}%gé
4. %

Question Number : 73 Question Id : 8321474973 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the analysis of a Latin Square Design with k treatments the error degrees of freedom 1s
k ésemoren Ko enédR .6 (a1 gm6™) 6% 51808 wosen aRy?
o

n
\
oJ

Options:
k-1



2. %

k-2
3. %

(k-1)(k-2)
4.9

Question Number : 74 Question Id : 8321474974 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[n a randomized block design with r blocks and t treatments, the number of F-tests carried out i
S LT o fio ARt pols6iSie’ ) Fiddgen dint?

Options:

Question Number : 75 Question Id : 8321474975 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is a component of a time series

&3 (808 8S® 288 sreBBS Jgrito

Options :
1. %



Density curve

Joo(B& (Habaso

Secular trend
ELO0 (HB

2. ¢
Intercept
5080 VR

3. % =
Slope

L ox

Question Number : 76 Question Id : 8321474976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following components of a time series 1s not directly measurable
& (800 B6° .88 we(3B8 Komofod Shrr FesB wodo

Options:
Secular Trend

2Ege0 (DS

Seasonal vanation

B¢ a‘ﬂorﬁﬂﬂéﬁn

[rregular changes

- (B0 B3 etnyen

Cyclical changes
SBcsH Setnen



Question Number : 77 Question Id : 8321474977 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For a time-series the model Y = T*S*C*1 1s of type
Y = T*S*C*] o3 soe(ded 3rES 55008 Bobd
Options :
Additive
|« 0508
Multiplicative
eased
2. ¢
Mixed
- Qe P
Parabolic
DTPHOCD
4. ®

Question Number : 78 Question Id : 8321474978 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Secular trend 1n a time series 1s measured by the method of
SoRHE Ko el {58 A 558 Ty Food

Options :
Maximum hikelihood

glsrs! 5085505

1. %



Moments

DB

Sufficient statistics

DTG5 5“08353“@3

3. %
Least squares
508 dT°en
2 9]
4.

Question Number : 79 Question Id : 8321474979 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio to trend method 1s used to study

O%Ge &0 B0k H58J o oo Tahmrls et

Options :

Secular trend

B0 (DB
gl —o

Seasonal changes

Soe TroLerien

2. ¢

Irregular changes

- (BB Sordoyen

Cyclical changes

S8 TPOTERgeD

4. %

Question Number : 80 Question Id : 8321474980 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

In the usual notation, which of the following 1s a parabola model to a time series

& (800 86" 03682 Kofotedd o°E Srrdedh Sdmae O6?

Options :

Y = a+bt
1. %

Y= ae®
2. %

Y = ab'
3. %

Y = at+bt+ct?
4. &

Question Number : 81 Question Id : 8321474981 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If x denotes the demand for a product and the elasticity 1s o, then the demand function 1
8 Si59% Aes x o, o) R8PS o oond, 0% 6 Ao (3o

Options :

Xx=cp"
1.¢

X=¢"p
2. %

Siep”
3. %

x=¢"p



Question Number : 82 Question Id : 8321474982 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The range of demand elasticity of any product 1s
D SYHIT® Ao JBFDHES ©0550S° Goewod

Options:

[0,0<)

Question Number : 83 Question Id : 8321474983 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
[n the usual notation with price elasticity ‘m’ the supply curve 1s given by
2.8 $5x9% &Y %@ﬁﬂ&éé Dend m OOE, B $ Qo a8
0 o

Options :

S =C m
1.9 P

S =p+c™
2. %

S=tp
3, %

S=pc"



Question Number : 84 Question Id : 8321474984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of relative change in demand to relative change in price is called

ArEs’) B ety H0 G860 FHE Sy o DY 8P B0LRS)

Options :
Price elasticity of supply
03 o) QY ﬁge‘i%@vééé

1. %
Price elasticity of demand
ATPS GE) 8 RBIDES

2.¥ ¥ ®
Supply-demand ratio
SR-Girol A8

3.% %
Cost-demand ratio
55-ATPE D

4. ® e

Question Number : 85 Question Id : 8321474985 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which type of scale 1s used to plot a Pareto curve?
0 o AcHERS a°8 S DB?

Options :
Logarithmic scale

ePNBSHLE }%&5



Ordinal scale

e_*a{fh 5 paéﬁ

Nominal scale

IS WS
3. %
Double logarithmic scale
Lend erRBGHLE f}é@
4.

Question Number : 86 Question Id : 8321474986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
, 20 . - :
Given the demand curve x = o the price elasticity of demand at P=3 1s

X :% o6 8&rof S0 vand, P=3 Dlafale VTN CL R ENEL

Options :
0.50

1. %

0.75
2. ¢

L 025

4. %

Question Number : 87 Question Id : 8321474987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For any index number the base period 1s always taken as
D dood) DoggSTr S 0SB0 der &0%Hoern?



Options :

1000
1. %
2. % l

100
3.¢¥

0.5
4. %

Question Number : 88 Question Id : 8321474988 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
With usual notation the weight used to construct Paasche index number 1s
Srdmen Sodedt i Grd) éow{; KeBodme8 6 o dod?

Options :
Poo
1. %

P1qo

2. %

P19

3.¢

Pog1

Question Number : 89 Question Id : 8321474989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The geometric mean of Laspeyres’s and Paasche’s index numbers is

aa HBck @?\}Q&E 9 Sopge Hesdisdo _ edEod

Options:



Marshal-Edgeworth Index number

Zﬁjﬂﬁgé Qéé@ A Loy

1. %
Fisher’s Ideal Index Number
FRroLa) Clale) Sd) Sogy

2. ¢
Kellye’s index Number
80 Kool Slekvly

3. %
Drobish-Bowley Index Number
@Béﬁi T8 K7od) Sogg

4. ®

Question Number : 90 Question Id : 8321474990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The index number that i1s constructed with explicit weights 1s
éﬂj@@?ﬁ aPBEne&E Q&0 God) Koy 0?

Options :

Laspeyres’s Index Number

e D8 G d) Kogyg

1. % A

Paasche Index Number

25 Xod ﬁoa:g

2. %
Kelly’s index Number

§§ %008) K:Daaé
3. v



Welsh Index Number

B B 2
3¢ 308 Sogyg

Question Number : 91 Question Id : 8321474991 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The index number that satisfies factor reversal test 1s
&3 L_%D&) T8S® o8¥ S)E’Jiﬁé 55&3’&3 éejﬁ_g H83 S d) 50@5 D87

Options :
Laspeyres’s Index Number

ePR)OD0 Lo0d) Lopg

1, %
Paasche Index Number
3.5 L .
- Clate) oe8) Kogg
Fisher index Number
2930 Qded) ﬁoa:;
3.¢¥
Drobish-Bowley Index Number
@5&5 &°8 Hoed) Logyg
4, %

Question Number : 92 Question Id : 8321474992 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With aggregate expenditure method, the cost-of-living index number 1s
25 ég% P ﬁoa:;:éa Imwéo Eﬁé@O' A0 KBodmeRd Se(go

Options :
1.4



Z P144 x 100

2 Podo
Lo . 100
X Poq1
2. %
Epﬂq{l ¥ 100
X P14q1
3. %
X P14
2. P1q1+XPodo ke
4, ®

Question Number : 93 Question Id : 8321474993 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Chain index numbers are defined by the formula, in standard notation, as
FredS SoSereoi@rhod Mend ¥ed Hogpged aer AT

Options :
. P
x 100
_— 2Py
Pn_ %100
2w
%100
PD
3. %
fn-1 2100
mn



Question Number : 94 Question Id : 8321474994 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The full form of CSO 1n India 1s
20805rS° CSO B Hrodrdo 28

Options:
Central Scientific Organization
006 20EDE BTN

1. %
Central Sampling Organization
0[S FPogoh IR

2. W (nal =
Central Statistical Organization
088 FeEIVES 9BJesNnR

3 Q0 =
Central Survey Office
2086 BT D

4, ® =

Question Number : 95 Question Id : 8321474995 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which organization in India 1s accountable to compute the GDP?
%J“E) a-%@ﬁéﬁ?b KeB0S5mrR8 So53808%) & E’Joé aﬁégé 260007

Options :

Central Statistics Office
205 FBVEY 8D

1. o | Eo ™

Indian Statistical Institute

208600 @ﬁéﬁ%é@ a?&&&::ogé



Reserve Bank of India
a5 Bestog w;oéa

3. %

NSSO

Question Number : 96 Question Id : 8321474996 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The crude barth rate 1n the usual notation 1s defined as

Sednen o8’ Jnd 2353 Send ger [atiitjled

Options:

2 %100
1. % £

5 100

P
2. ¥

2 x100
3 % P+D

5 x100
. % BFP

Question Number : 97 Question Id : 8321474997 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The probability that a person aged x year will die in one year 1s given by q,, =
X éofoépw écﬁfm&ﬁ@ 665_% &8 ﬁoéé&éo@s@ L8808 6o Féows’aﬁgé Qy =

Options :

dx

Lx

1.¢



2. % Lx
£X+1
I.T
3. %
dy41
4.%  lx

Question Number : 98 Question Id : 8321474998 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
With the usual symbols of life tables, the formula for e =
2 érég}é@ Fodes HO0ePRS pf =

Options:
1
e —
e TS
1.4
e 1
*
2. %
Lt
3. %
Ay 41
P
4.% "

Question Number : 99 Question Id : 8321474999 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



In the study of life tables the term vital index 1s defined as
£ ML ﬁotﬁé&oéﬁ 808 SrdEH Qe JBLDPEH?

Options :
CBR
— x 100
CDR
1.+
CDR
— x 100
CBR
2. ®
CBR
— x 1000
CDR
3. %
CDR
— x 1000
CBR
4. ®

Question Number : 100 Question Id : 8321475000 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the usual notation, the central mortality rate my 1s defined as
Ssdoen HoBered® So|l Ho8eadin my & Ber JEAFH

Options :
2
2—qx
1.+
Qx
1=qx
2. ®
2px
2—px
3. %



Px

1-px





